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BECC-101 : INTRODUCTORY MICROECONOMICS

Time : 3 Hours Maximum Marks : 100

Note : (i) Answer questions from each Section as

per instruction given.

(i) Section-A : Answer any two questions

from this Section.

(iii) Section-B : Answer any four questions

from this Section.

(iv) Section-C : Answer both the questions

from this Section.

P.T.O.
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Section—A

Can we use production possibility curves to
demonstrate production under increasing
and constant cost conditions. Explain with

the help of diagrams. 6

“As long as resources are fully employed
and every firm in the economy is producing
its output wusing the best available
technology, then the utilisation of
resources will be efficient.” Do you agree

with this statement ? Explain your answer.
6
When both the price of a substitute and

price of a complement of commodity-X rise,
then what would be the impact on demand

for commodity-X ? Explain your answer. 8

Given the demand and supply functions for

labour hours as below :
IS =10W
IP = 600 - 10W

where W 1s wage rate per hour of labour
and LS and LP are respectively the supply
and demand of labour in millions of labour

hours. 6
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(©
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(1) Determine the free market wage rate

and employment. (Graph is required)

(11) Now suppose that the government
fixes the minimum wage rate ¥ 40 per
labour hour. How would the

employment of labour hours be
effected ?

What are the reasons behind variations in
the wage rates across the different

professions ? 6

The burden of a tax is shared by producers
and consumers. Under what conditions will
consumers pay most of the tax ? Under
what conditions will producer pay most of
it ? 8

“A typical production function has three

stages.” Explain with the help of diagrams.
8

Is the firm minimizing costs if the
marginal product of labour is six, the
marginal product of capital is five, the
price of labour is ¥ 2, and the price of
capital 1s ¥ 1 ? If not, what must the firm

do to minimize costs ? 6

P.T.O.
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(c) Explain the following concepts with the
help of diagrams : 6
(1) Expansion path
(1) Ridge lines

(a) Explain the short-run equilibrium of a
competitive  firm. When would a
competitive firm close down its business in
the short-run ? 8

(b) Would the monopolist ever operate on the
inelastic portion of the demand curve ?
Explain your answer with reason. 6

(c) Explain the concept of mark-up pricing. 6

Section—B

(a) There i1s a straight line demand curve in
the figure : 6

Price.

per unit
P, C
O\ Qi B Units of

~ ~ outputs
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Prove that the point elasticity at point “C”
on the demand curve is the ratio of line
segment M1 to line segment Ma.

On what factors does the price elasticity of

supply depend ? Explain. 6

Define the Law of Diminishing Marginal
utility (Diagram is required). The total

utility at different levels of consumption is

a given below : 6
Units Consumed Total Utility
1 20
5 60
10 85

If the price is fixed at ¥ 10 per unit,
determine the equilibrium level of demand.

Device the demand curve for a Giffen good
with the help of indifference curves and the

budget line. 6

Explain the price effect, income effect and the

substitution effect of a fall in price for an

inferior commodity using suitable diagram. 12

P.T.O.
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Is the firm’s expansion path always a

straight line ? Explain it. 6

Explain the concept of economies and
diseconomies of scale. How do economies
and diseconomies of scale determine the
shape of the long-run average cost (LAC)

curve ? 6

Show that a competitive firm always
operates at its optimal capacity in the long

run. 8

How does a monopolist firm face efficiency

loss ? 4

10. Write short notes on the following : 4x3=12

(1)

Recardian theory of Rent

(i1) Sources of market failures

(i11) Prisoner’s Dilemma in oligopoly market

(1v) Backward bending labour supply curve
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Section—C

11. “The kinked demand curve describes price
rigidity.” Explain how the model works. What

are its limitations ? 6

12. What is excess capacity and how is it related to

the model of monopolistic competition ? 6

P.T.O.



[8] BECC-101

BECC-101

T T (T4 ) Sredvme
(st W 3. Wt uw)
eIt
A, 2023
1.3 W H.-101 : URFweR e o

g - 3 HU Afgswhdag 3fd : 100

Tz : () T @vel ¥ [T & RIgER g P

W FITl

(i) GUE—aF : 39 TS G fa=l aF 594 &
W FITl

(iii) @US—& : 39 @Us § o=l =aR g9
% IW T

(iii)) @UE—IT : 39 @UE G Il 99l & I
SIS




1.

[9] BECC-101

Qug—ch

(37) dedt R feer ol ® ofdid BN ar

()

(H)

BIsIES] # 'Y fHg UFR Scdlgd HEHIA]

Iohl W THS Hehd © ? @I 1 HETHl
¥ 9 HifSu) 6
“oFR HEEE gof IR W) W § SR
Fefeaee H Y% ®H HaraH dehieh
TN I Y ST SURA H W T, q@
GHIYA T S&AMUl YA BN A S
M HYT U WEHd § 7 O SW R
ST hifSU| 6
X-o%] & Wi a% % ®iHd qe
ek %] HI HIFd, I 9§ Il §, A9

X-o%] &I AT W 3BT F YOS B ?

YT W i AR HifST| 8

P.T.O.
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2. (31) g9 wd & faw =@ qon gfd wew =
w9 9§ fau MR 6
I’ =10W
IP = 600 — 10W
W&, W | % ufd S weigd ) 2 A
g9 ®e & fafes o LS dan LD seem:
g9 T i an /i Bl
(i) @A 9NN H ASgd ] qe YSFR
o sifs)
(i) 3@ T fF WHER =AaH HI_H N
3 40 i oM woer fauifa o @1 osm
o0 hT YR hd gerfera g2
(&) fafa=1 sga@mE ¥ deiglt & ®W H U8 S
et fafa=ran & & SR E 2 6
(T)H H A IARHI qon U g
aren fRan Sar 1 Susie fea vl % ded
ST X AT A w1 2 fod vl &

qed ICURehl Bl $9H W AR HT M
KT B ? 8
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3. (1) “uw fafitre I@RA ®ed & 99 =R 8
21" YEfas &) werd 9 9ol wifsu 8

(@) € g & HA< AR 6 T, T H#
Ho SR 5 B, &9 H HIHd T 2 ®,

qen Yt k1 A T 1 @ df F wd

ARl Bl JFAd #R @ 2 afk T a

®H i AN AGHR & fAT = wE

<ifeq ? 6
(9) Fefafaa sEumRonstt &1 @rfad @

W@a‘ﬂﬁﬁﬁq : 6

() fo=r uy

Gi) dffy

4. () UH Yfqart ®H & SToUdCd Fded ohl
U HICI Aeqehial § THh Gfaarft wH

A FIEE HT e &% B € 2 8

(9) M THIYSHR A T T b TA@8R
A H ITRA &AW 7 AU IAC 1 HR

Hfed 9o Sifsu] 6

P.T.O.
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(9) Ah-319 wsfam &1 STEUROT 19U

ShITSTT| 6
Yus—d
5. (31) faa o T YT AT 9% T 6
9fd geh1E
HiHd
P, C
0
N -~ gl -~ JB ?,Fcna:[afr
M, M, <P TRl

fag wifst f& o 9% & ¢ fag W
fog &= &1 "M WEvs M, &1 WEve
M, & 3FId & FHH 2

(9) 9fd 1 *Ed o= fRT wRERl WA
FA § 7 AT BT 6

6. (31) HWHra U & wEaa fm &
ftifd sifsit (Yafas stewas ®)|
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U & fafi= Wi W wA SuHT

e yeR & T © 6
wmﬁﬁ Fa SUAT
EEERI]
1 20
5 60
10 85

s ®md 2 10 9fd s W i@ =6t
S €, @ " % Hger WX ol fuifa
i)

() ST Fehl T I @1 Hi FeEdl o
T fifthT ag & fou A 9% &1 e
it 6

7. T 3fod @fes &1 Ja w3 g Th 8 9%
& fau =d 9 & & $Hd 99E, A" 99E
qe AfaEeaq 99 1 9UH hifsg| 12

8. (31) & wH o1 faar qy sHIM TH G W@
g © 2 auie wifeg 6

P.T.O.
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() YR &1 Toqeataansti qen  sifideataanst
F1 gU pifew] efRelE SlEd rd
(LAC) o ! 3Tehfd @l UAW o
fadqeafaad qen sfqqeafaad e yaR

fruffd =l 2 6

9. (31) e HIWY fob Tk gfcartt wd et o
FTH STIRAdd &Hal W THIN  Icdred

F 2 g
(@) 0 TR T <wE @ w1 aw
Ft B ? 4

10. Frefafag w wfaa fewforar fafae ;@ 4x3=12
G) fret =1 o fag=
(i) SR faweaeT & 9a

(iii) STCUTUHR IR H St w1 gfaen

(iv) 98 &1 IR HSa1 g3m o4 qfd ok
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Qgue—H

11. frse q\ﬁT b HIAd ATl T IO Bl %l

e Hifau foh ufaey (dfed) H8 HE H
T 7 TEe! dHd w® N § 2 6

12. SAfaRed &9l 1 & a1 THIHHNeHs Fiaarh

FT Aed g THK U9 TEd © ? 6
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